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. Suppose biochemists discover an enzyme that can double the amount of ethanol that may be derived
from a given amount of biomass. Based on this technological development, we expect the:
A. supply curve for ethanol to shift leftward.
B. supply curve for ethanol to shift rightward.
C. demand curve for ethanol to shift leftward.
D. demand curve for ethanol to shift rightward.

. The battery packs used in electric and hybrid automobiles are one of the largest cost components for
manufacturing these cars. As the price of these batteries decline, we expect that the:
A. supply curve for electric and hybrid autos will shift rightward.
B. supply curve for electric and hybrid autos will shift leftward.
C. demand curve for electric and hybrid autos will shift rightward.
D. demand curve for electric and hybrid autos will shift leftward.

. A consumer prefers market basket A to market basket B, and prefers market basket B to market
basket C. Therefore, A is preferred to C. The assumption that leads to this conclusion is:
A. transitivity.
B. completeness.
C. all goods are good.
D. diminishing MRS.

Indifference curves are convex to the origin because of:

A. transitivity of consumer preferences.

B. the assumption of a diminishing marginal rate of substitution.
C. the assumption that more is preferred to less.

D. the assumption of completeness.

. Envision a graph with meat on the horizontal axis and vegetables on the vertical axis. A strict
vegetarian would have indifference curves that are:
A. vertical lines.
B. horizontal lines.
C. diagonal straight lines.
D. right angles.

Which of the following is true concerning the income effect of a decrease in price?
A. It will lead to an increase in consumption only for a normal good.

B. It always will lead to an increase in consumption.

C. It will lead to an increase in consumption only for an inferior good.

D. 1t will lead to an increase in consumption only for a Giffen good.

$1R




i

10.

11.

12.

13.

14.

Joe owns a coffee house and produces coffee drinks under the production function q = SKL where q is
the number of cups generated per hour, K is the number of coffee machines (capital), and L is the
number of employees hired per hour (labor). What is the average product of labor?

A. AP=5

B. AP=5K
C. AP=5L
D. AP=S5K/L

When the average product is decreasing, marginal product
A. is increasing.

B. exceeds average product.

C. isincreasing then decreasing.

D. is less than average product.

The Malthusian dilemma relates to marginal product in that

A. starvation can be averted only if marginal product is constant.

B. because of diminishing marginal product, the amount of food produced by each additional
member of the population increases.

C. because of diminishing marginal product, the amount of food produced by each additional
member of the population decreases.

D. because of diminishing marginal product, the wage falls as the population decreases.

The total cost (TC) of producing computer software diskettes (Q) is given as: TC = 200 + 5Q. What is
the variable cost?

A. 200

B. 5+ (200/Q)

C. 5

D. 5Q

Suppose that the price of labor (P ) is $10 and the price of capital (Pg) is $20. What is the equation

of the isocost line corresponding to a total cost of $100?
A. PL+20PK

B. 100 =10L + 20K

C. 100 =30(L+K)

D. 100+ 30 (P; +Pg)

Revenue is equal to

A. price times quantity.

B. price times quantity minus total cost.

C. price times quantity minus average cost.
D. price times quantity minus marginal cost.

The demand curve facing a perfectly competitive firm is

A. the same as the market demand curve.

B. downward-sloping and less flat than the market demand curve.
C. downward-sloping and flatter than the market demand curve.
D. perfectly horizontal.

Consumer surplus measures

A. the extra amount that a consumer must pay to obtain a marginal unit of a good or service.

B. the excess demand that consumers have when a price ceiling holds prices below their equilibrium.
C. the benefit that consumers receive from a good or service beyond what they pay.

D. gain or loss to consumers from price fixing.
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15. Barbara is a producer in a monopoly industry. Her demand curve, total revenue curve, marginal
revenue curve and total cost curve are given as follows:
O=160-4P TR=400-0.2502 MR=40-050 TC=4Q MC=4

How much output will Barbara produce?
A0
B. 22
C. 56
D. 72

16. An electric power company uses block pricing for electricity sales. Block pricing is an example of
A. first-degree price discrimination.
B. second-degree price discrimination.
C. third-degree price discrimination.
D. Block pricing is not a type of price discrimination.

17. The maximum price that a consumer is willing to pay for each unit bought is the price.

A. market

B. consumer surplus
C. reservation

D. auction

18. A Nash equilibrium occurs when
A. each firm is doing the best it can, given its opponents' actions.

B. each firm chooses the strategy that maximizes its minimum gain.
C. aplayer can choose a strategy that is optimal regardless of its rivals' actions.
D. there is no dominant firm in a market.

19. If the interest rate is 5%, in one period the future value of $1 today is

A. $1.20.
B. 95 cents.
C. 20 cents.
D. $1.05.

20. Externalities
A. are not reflected in market prices, so they can be a source of economic inefficiency.
B. do become reflected in market prices, so they can be a source of economic inefficiency.

C. are not reflected in market prices, so they do not adversely affect economic efficiency.
D. do become reflected in market prices, so they do not adversely affect economic efficiency.
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